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X = 0.0;
for (3=0; j<M; j++) {
if (j%100 == @) {outdat(x, prev);}
X = X + dx;
for (i=1; i<N-1; i++) {
next[i] = r*(prev[i+l] + prev[i-1])
+ s*prev[i];
}
for (i=1; i<N-1; i++) {
prev[i] = next[i];

}

return 0;
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#include <stdio.h>
#define N 40
#define M 1000
void outdat(double x, double V[N]);
int main(void) {
double r, s, dy, x, dx = 0.01;
double prev[N], next[N];
int i, j;
dy = 1.0/(double) N; * = s
r = dx/Cdy*dy): /* ZBEDRE */
s =1.0 - 2.0*r;
prev[@] = 0.0; /* BREHE X/
for (i=1; i<N-1; i++) {prev[i] = 1.0;} /* KM */
prev[N-1] = 0.0; /* BREME */
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void outdat(double x, double v[N]) {
int 1;
double y;
for (i=0; i<N; i++) {
y = (double) i/(double) N;
printf("%f %f %f\n", x, y, v[i]);
3
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#include <stdio.h>
#define N 40
int main(void) {
double x = 0.0, next[N], curr[N], prev[N];
double q, s, h, k = 0.001;
int i, j, m = 1000;
h = 1.0/(double) N;
q = (k*k)/(h*h);
s = 2.0%C1.0 - q);
for (i=0; i<N/2; i++) {
curr[i] = (double) i/(double) N; /* WIEASH - BREG 2/
curr[N-1-i] = curr[i];
}

for (i=0; i<N; i++) prev[i] = curr[i];

/* ZMEFEDRE */
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for (3=0; j<m; j++) {
if (j%100 == @) outdata(x, curr);
x = x + k;
for (i=1; i<N-1; i++) {
next[i] =g*Ccurr[i+1] + curr[i-1])
+ s*curr[i] - prev[i];
}
for (i=0; i<N; i++) {
prev[i] = curr[i];
curr[i] = next[i];
}
}
return 0;

}
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void outdata(double x, double u[N]) {
int 1;
double y;
for (i=0; i<N; i++) {
= (double) i/(double) N;
printf ("%f %f %f\n", x, y, u[il);
ks
}
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#include <stdio.h>
#include <math.h>
#define N 41
#define M 10000
#define DELTA 0.0001
double gz(double next[N]J[N], double prev[NJ[N]);
int main(void) {
int i, j, k;
double err, next[N][N], prev[N][N];
for (i=0; i<N; i++) {
next[@][i] = 0.0;
next[i][@] = 0.0;
next[1i][N-1] = 1.0;
}
for (i=1; i<N-1; i++) {
next[N-1][i] = 0.0;

/* BREH */
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for (i=0; i<N; i++) {
for (3=0; j<N; j++) { prev[il[j] = next[i][j]; }

}
for (k=0; k<M; k++) {
err = gz(next, prev);
if (err < DELTA) {
for (i=0; i<N; i++) {
for (j=0; j<N; j++) { printf(" %f", next[i][j1D;}
printf("\n");

return 0;

}

}
printf("NOT CONVERGENT\n");
return 1;
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double gz(double next[N][N], double prev[NI[NI) {

int i, j;

double err = 0.0;

for (i=1; i<N-1; i++) {

for (3=1; j<N-1; j++) {
next[i][j] = (prev[i+11[3] + prev[i-1]1[j]
+ prev[i][j+1] + prev[i][j-11)/4.0;

err = err + fabs(Cprev[i][j] - next[i][j1);
prev[il[j] = next[i]1[3];

}
return err;
}
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